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(4 | (kg/m) Bom) | B nd) | & B (o)
2 0.249 6.35 31.67 10,95 .|
3 0.559 9.53 71.33 29.94 ]
4 0.994 12.70 126.68 39.90
5 1,550 15.90 198.56 49.95
6 2.240 19.10 285,52 60. 00
7 3.050 22.20 387.08 69. 74
8 3.980 25.40 506. 71 79.80
9 5. 060 28.70 646. 93 90.16
10 6.410 32.20 814.33 101.16
ME =. EEHERBREEEZEWHR T,
Ry | HER B2 R~
G | (/£ (in) | @G | B BGn)
#3 0.376 3/8 0.11 1,178
7] 0.668 478 0.20 1.571
5 1.043 5/8 0.31 1.963
H6 1.502 6/8 0.44 2. 356
17 2.044 7/ 0.60 2.749
#8 2.067 i- 0.79 3.142
#9 3.400 1-1/8 1.00 3.544
“#10 | 4,303 1-2/8 1.27 3.990
#11] 5.313 1.410 1.56 4,430
414 7.650 1.633 2.25 5.320
#4181 13.600 2,257 4,00 7.090 |
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P2 R IT A
100 REM U.S.D R EAHEREE--RC1.PRG
110 INPUT"E8EL3%E FC'=(KG/CM"2) ";FC
120 INPUT"SBAESEE FY=(KG/CM"2)":FY
130 INPUT"YEFHSIE MU= (KG-CM) "sMU
140 INPUT"$HEERF %=":N
150 EC=.003:EY=FY/(2.0410000001)
160 XB=EC/(EC+EY)
170 Bl=.85-.05%((FC-280) /70)
180 IF B1>.85 THEN B1=.85
190 PB=.85:FC/FY:B1:XB
200 P=.6+PB:REM P Z3/hG%.75PB, $7/8.6 PB
210 [F P<14/FY THEN P=14/FY
220 M=FY/{(.85%FC) :RU=PFY:(1-P:M/2)
230 MU=MU/N
240 REM BEEBENAL/2E2/3EE 4EB-(7/12D
250 D=(MU=12/7/RD) " (1/3) :B=7/12:D
260 PRINT"HEHE B=":B:" &2 D=";D
270 INPUT"#H B=7 D=":B,D
280" RU=MU/ (B=D=D)
290 IF (1-2+M3RU/FY)<O THEN PRINT"Bfi A /" :END
300 P=1/M=(1-SQR (1-2:M¥=RU/FY))
310 PL=14/FY
320 IF P:=4/3<PL THEN PL=P:4/3
330 IF P<PL THEN P=PL
340 IF P>, 75%PB THEN PRINT" M5 &t31" :END
350 AS=PBD
360 PRINT"mRAEAARLE . T5PB=":.75PB
370 PRINT m/NRfiEE 14/FY="314/FY
380 PRINT"$HAKLE P="P
390 PRINT"SHAHEE AS=":AS:" CM"2"
400 INPUT "REHEHAHE AS-(IM°2) ":AS
410 REM 5
420 T-AS=FY
430 A=T/(,855FCB) :MU=T=(D-A/2) : X=A/B1:ES=(D-X) /X:*. 003
440 PRINT RERHEHE MU=";MUN:" KG-CM"
450 FRINT"RE/33E A=":A:" 2\ 43"
460 END



_1--U.S DG HER 11

RUN “RC1.PRG"
RELHE FC' =(KG/MM"2) 7 280
HAERTREE FY=(KG/CM™2) 7 2800
YEFISE MU=(KG-CM)? 5500000
hEERTF %=7 .9
P¥HE B- 31.1636 2% D= 53.42331
$£/ B=? D=7 36,52
RAEGLL L 75PB= 3. 717797E-02
=/NEABLL 14/FY= L 005
$MELtL P= 2.657528E-02
SMARE AS- 40.74892 (M2
BREHMAER AS=(CM"2) 7 49.74892
RBWIS MU= 5490999 KG-CM
r(%mm A= 16.25782 245

{
RUN “RC1.PRG"
REELEE FC' =(KG/MM" 27 210
SREATERE FY=(KG/CM 27 2800
PERI®E MU=(KG-CM) 7 2520000
P2E B- 26.44274 HEIE D= 45.3304
£ B=7 D=7 27,45
AL . 75PB= 2. T88348E-02
B NEAGEL 14/FY= . 005
HRHLL P= 2,213148E- 02
SEGE AS- 26.88975 (M2
HEHARE AS=(CM"2) 7 26.88975
REBWHIE MU= 2520000 KG-CM
R A= 15.62222 2\%
Ok
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B EAID —30A% » d =S0RF » Ad= 4-F 105
f/=280Kg om » f,’ = 2800Kg,/om 2 » AR EGMATH
A B 2 R BRERE o
i T A AR
1. (K T HESM R » sk SREARIR B ST L o1
wize £, <p<0.7500
218,/ £y < p<0.75ps TERMRBHMEIERT » RAHLTHR

| b l
6\‘320-003 0.85f/ ¢
T
d ™2 _ a
d=%
A, i} N
w7 | - 6,5{, T
C: O.85fc, ab T:Aafy
C=T ...a:Asfy/(0.85fc, b)
M. = M. (¢ :0.93RET)
=RA MR
2 10 HIE 58438 (R R FEERARAR AR YL X o

220 HEMIEE av= F:1Xs

230 ¥EE S C» =0.85f bas

240 To = Co MIBARMRIBRIATR A, =Cu 1,

290 % A, <0.75A, 7EBIREYEIFAT » hrAsEMR » T =
Af,» C=0.85f’ abXC=T..a=A.1,/0.85fb)
M. =C (d—a2)
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310 REBEM.~ ¢ M.

AR ARBITH

100 REM U.S.D 247 BARIERAR - -RC2. PRG

110 INPUT"EEE B=(224)) "iB
120 INPUT"#BEE D=(4453) "D

130 INPUT"SIAGER AS=(CM"2) ";AS

140 INPUT" B @t -L3%E FC'=(KG/CM"2) " FC
150 INPUT"SSH3EEE FY=(KG/CM"2)";FY

160 INPUT"#rifE+ %=":iN

170 EC=.003:EY=FY/(2.04%1000000!)

180 B1=.85-.05%((FC-280) /70
190 IF B1>,.85 THEN B1-.85
200 REM sKE&MERLEAL

210 XB=ECxD/(EC+EY)

220 AB=B1:xXB

230 CB=.853xFC=AB:B

240 A1=CB/FY

250 AH=, 75%Al

260 IF AS>AH THEN PRINT"$HAH@& B EH" :END

270 AL=14/FY:BD

280 IF AS <AL THEN PRINT" #1858 K/P" :END

200 A=ASHFY/ (, 854FCaB) :MU=AS:FY> (D-A/2)
300 PRINT"MEASREE A="5A:" 127
310 PRINT {EFR®#E MU' =";MUXN;" KG-CM"

320 END

RUN "RC2.PRG"

£ B=(215))7 36

EREE D=(X9)17 52

AR AS=(CM"2)7 49,74802
RELRE FC' =(KG/MW 27 280
SARIREE FY=(KG/CM"2)7 2800
HERF %7 .9

RIREE A= 16.26782 L5
IRFR®IE MU'= 5499909 KG-(M
Ok

RUN "RC2.PRG"

28 B=(AM? 27

£R0E D=(87) 7 45

SEHE AS=(N"2) 7 26.88975
& LEE FC' =K/ 27 210
MR FY=(KG/CM"2) 7 2800
AT %=7 .9

MIREE A- 16.062222 \5
fEFREHIE MU' = 2520000 KG-CM
Ok
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